
ADV<='1';

we<='1';

oe<='1';

rs <= '0';

CE<='1'; 
WE<='1';

oe<='1';

adv <= '1';

Signals Status
SIGNAL  SCOPE DEFAULT  RESET  STATUS 

A       OUT                   COMB   

B       OUT                   COMB   

DQ      OUT                   COMB   

adv     OUT                   COMB   

ce      OUT                   COMB   

clk     OUT                   COMB   

oe      OUT                   COMB   

rs      OUT                   COMB   

we      OUT                   COMB   

wt      OUT                   COMB   

Package List

LIBRARY ieee;

USE ieee.std_logic_1164.all;

USE ieee.std_logic_arith.all;

Architecture DeclarationsGlobal Actions Concurrent Statements

clk<=clk_H;
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s8
rs<='1';

s1

DQ<="0000000001000000";--0x40

A<=(others=>'1');--mem add

ADV<='0';
we<='0';

ce<='0';

s7

dq<="0000000000010101";

A<=(others=>'1');

we<='1';

ADV<='0';

we<='0';

adv<='0';

ce<='0';

s4

we<='1';

adv<='1';

ce<='1';

s2

DQ<="0000000111111111";--0xff

A<=(others=>'1');--mem add
we<='0';

adv<='0';

ce<='0';

s3

s6

B <= DQ(3 downto 0);

A<=(others=>'1');--mem add

--oe <='0';

ADV<='0';

ce<='0';

s5

we<='1';

adv<='1';

ce<='1';

s9

ce<='1';

oe<='0';

B <= DQ(3 downto 0);
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